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Question Number : 1 Question Id : 36496346355 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A social-constructivist perspective views children
Options:

1. as passive receivers of information

2. independent of their socio-cultural content

3. as active constructors of knowledge

4. as pre-programmed by heredity

Question Number : 1 Question Id : 36496346355 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 36496346356 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion(A): Sound nutrition, adequate sleep and physical activity promote children's abilities to

engage in social interaction which in turn stimulates cognitive growth.
Reason(R): All domains of development are inter-related and influence each other.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 2 Question Id : 36496346356 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 36496346357 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As soon as Sunita began to walk she would dance whenever she heard music. Her parents clapped
when she danced and encouraged her to imitate dancing by children on the T.V shows. Soon

Sunita started to dance quite well.

Which principle of development does the above example illustrates?
Options :

1. Development is a result of interaction between heredity and environment.
2. Development is discontinuous.

3. Development is totally unpredictable.

4. Development is determined solely by heredity.

Question Number : 3 Question Id : 36496346357 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 36496346358 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Process of primary socialisation begins from
Options :

1. infancy

2. childhood

3. adolescence

4. adulthood

Question Number : 4 Question Id : 36496346358 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 36496346359 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Pedagogical strategies based on Jean Piaget's theory of cognitive development will

Options :

1. focus exclusively on rote memorisation of content.

2. consider children’s age while developing curriculum.

3. present content from a sequence of abstract to concrete.

4. consider rewards and punishment very important for learning.

Question Number : 5 Question Id : 36496346359 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 36496346360 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, basic building blocks of thinking which are organised systems of action



or thought that allow us to mentally represent the objects and events in our world are called

Options :

1. schemas

2. zone of proximal development
3. advance organisers

4. reflexes

Question Number : 6 Question Id : 36496346360 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 36496346361 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who proposed that social interactions play significant role in transforming basic mental capacities

into higher cognitive processes?
Options:

1. Lev Vygotsky



2. B.F Skinner
3. Howard Gardner

4. Lawrence Kohlberg

Question Number : 7 Question Id : 36496346361 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 36496346362 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is based on Lev Vygotsky's theory of cognitive development?
Options:

1. Reciprocal teaching

2. Operant conditioning

3. Expository Learning

4. Rote memorization

Question Number : 8 Question Id : 36496346362 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 36496346363 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lawrence Kohlberg at which stage of moral reasoning is a child who reasons that
Heinz should obey the law as it is his duty as a citizen and if no one is allowed to steal even Heinz

should not be allowed?

Options :

1. The instrumental purpose orientation
2. Law and order orientation

3. Social contract orientation

4. Punishment-obedience orientation

Question Number : 9 Question Id : 36496346363 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 36496346364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following approach is in line with the principles of child-centred education?
Options :

1. Schools should account for each student's personal needs and interests.

2. Emphasis should be given on instructions through lectures only.

3. All the students should meet the uniform standards by the teacher.

4, Students should be provided with extrinsic motivations to learn for exams.

Question Number : 10 Question Id : 36496346364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 36496346365 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which type of intelligence is NOT proposed in Howard Gardner's theory of Multiple Intelligences?
Options :

1. Linguistic intelligence

2. Bodily- kinaesthetic intelligence

3. Musical Intelligence

4. Crystallised Intelligence

Question Number : 11 Question Id : 36496346365 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 36496346366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an effective pedagogical strategy to reduce children's gender

stereotyping and promoting gender equality?
Options :

1. Making gender - segregated seating arrangements
2. Assigning gender-based learning tasks

3. Emphasis on gender specific roles and behaviour

4. Facilitating classroom discussions about gender traits

Question Number : 12 Question Id : 36496346366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 36496346367 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a classroom with diverse group of students, a teacher should__
Options :

1. advocate and celebrate individual differences.

2. try to reduce individual differences.

3. ignore individual differences.

4. consider individual differences as the primary obstacle in the process of teaching learning.

Question Number : 13 Question Id : 36496346367 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 36496346368 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does National Education Policy 2020 propose in the content of assessment?
Options :

1. Summative assessment



2. Learning for exams.
3. 360- degree multidimensional progress report cards

4. Paper and pencil based objective questions type tests

Question Number : 14 Question Id : 36496346368 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 36496346369 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In next 10 years, will Science advance enough to explore life on other planets? Above question will

promote __ thinking among students because it seeks____ .
Options :

1. divergent, many possible answers.

2. convergent, only one right answer.

3. divergent, only one right answer.

4. convergent, many possible answers.



Question Number : 15 Question Id : 36496346369 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 36496346370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A teacher encourages students to make a presentation about their local heritage for

the school project.

Reason (R): sharing experiences from one's community and heritage helps students feel included

in the classroom.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.



Question Number : 16 Question Id : 36496346370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 36496346371 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Inappropriate sizing and spacing of letters, mixing of cursive and print letters, and incorrect

spelling' are identifying characteristics of
Options :

1. Dyslexia

2. Dysgraphia

3. Dyscalculia

4. Dysphonia

Question Number : 17 Question Id : 36496346371 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 36496346372 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following principle hinders inclusion in education?
Options :

1. Multiple ways of representation of content.

2. Multiple ways of labelling the students.

3. Multiple ways of expressing the opinions.

4. Multiple ways of engaging in process of learning.

Question Number : 18 Question Id : 36496346372 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 36496346373 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students with visual impairment will be able to learn and communicate effectively if they are

provided with-

(i) sign language training

(i) braille language training

(iii) text to speech converting software

(iv) tactile printed material
Options :

1. (i) only

2. (i) and (iv) only

3. (i) and (iv) only

4. (ii), (iii) and (iv) only

Question Number : 19 Question Id : 36496346373 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 36496346374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will NOT be a characteristic of students with giftedness?
Options:

1. Learning for the sake of being examined

2. Intrinsically motivated towards tasks challenge them

3. Curiosity to explore and learn

4. High achiever in one or more domains

Question Number : 20 Question Id : 36496346374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 36496346375 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To deal with misconceptions among students, a teacher should:
Options :

1. facilitate discovery learning

2. use direct instruction

3. shame and punish those students

4. ignore those misconceptions

Question Number : 21 Question Id : 36496346375 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 36496346376 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Students learn bestby_

Options:

1. meaningful engagement with context

2. passively following verbal instructions of teachers
3. copying and imitating actions of others

4. rote memorising the given content

Question Number : 22 Question Id : 36496346376 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 36496346377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A teacher should present information in disconnected chunks and not give any

reference to previous concepts once those have been tested.

Reason(R) : learning occurs in a linear manner.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 23 Question Id : 36496346377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 36496346378 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is effective in enhancing trust in student-teacher relationship?
Options :

1. An attitude of unconditional acceptance of the student by the teacher.

2. Giving compliments to the student only on his/her appearance.

3. Offering frequent rewards and punishments to the students.

4. Showing affection to students only when they show desirable behaviour.

Question Number : 24 Question Id : 36496346378 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 36496346379 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following emotion will be experienced by a student when he focusses on lack of

controllability and negative outcome value of an activity?
Options :

1. Pride

2. Hope

3. Enjoyment

4. Anxiety

Question Number : 25 Question Id : 36496346379 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 36496346380 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following strategy supports student's motivation to learn?
Options :

1. Setting up punitive classroom management

2. Emphasising on finishing the task at any cost



3. Focussing on competition among students

4. Supporting students to achieve their individual learning goals

Question Number : 26 Question Id : 36496346380 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 36496346381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The ability to think on one's own thinking processes is called___
Options :

1. misconception

2. accommodation

3. concept map

4. metacognition

Question Number : 27 Question Id : 36496346381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 36496346382 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching a concept, Non- examples ___

Options :

1. should never be used .

2. should be given from a very unrelated concept.

3. should be used to enhance clarity about defining features of that concept.

4. should be avoided as they will lead to rigid misconceptions.

Question Number : 28 Question Id : 36496346382 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 36496346383 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not relevant for facilitating learning of a concept?
Options :

1. Exploring the prior knowledge of students about the concept.

2. Critically analysing and categorising the new information.

3. Presenting the information without linking with student's social context.

4. Understanding the concept from multiple perspectives.

Question Number : 29 Question Id : 36496346383 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 36496346384 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher is planning to facilitate discovery learning among her students. For their purpose,she

should:

Options :

1. extensively use lecture method.

2. emphasise on use of text books only.

3. facilitate self-directed experimentation with requisite guidance.

4. let students work on their own without any guidance.

Question Number : 30 Question Id : 36496346384 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Social Studies or Social Science

Section Id : 3649631502



Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60

Number of Questions to be attempted : 60

Section Marks : 60

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649632706
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 36496346385 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following

(Books) (Author)

A. Meghaduta I. Banabhatta

B. Harshacharita II. Aryabhata

C. Aryabhatiyam III. Sushruta

D.Susruta Samhita IV. Kalidasa
Options:

1. A-1V, B-], C-II, D-III

2. A-1, B-1v, C-I1I, D-1I

3. A-11, B-I, C-1V, D-III

4. A-11, B-1v, C-1, D-II



Question Number : 31 Question Id : 36496346385 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A. TEIEd (1) =Tor9E
B. EY=1LT (I1) 3TvE
C. FE9EEH (I11) gIF

D. Gyaw eal (1V) Tferera
Options :

1. A-IV, B-I, C-11, D-1II

, AL, B-IV, C-III, D-II

5. A-IILB-1, C-1V, D-III

4. A-IL B-1V, C-1, D-11

Question Number : 32 Question Id : 36496346386 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the Palaeolithic sites of the earliest people to the evidences found from these sites:

A. Kurnool I. Ostrich egg shells
B. Bhimbetka II. Traces of ash

C. Hungsi III. Caves and rock shelters



D. Patna IV. Habitation cum factory sites
Options:

1. A-1v, B-I, C-111, D-II

2. A-111, B-I, C-II, D-1V

3. A-11, B-III,C-1V, D-I

4. A-l, B-1V, C-1I, D-III

Question Number : 32 Question Id : 36496346386 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Wﬁ'ﬁqwd%umw A g%lWWWHWWEWJﬁW&T—

A. FEA . I & 3702
i1 "-": e L R -
B. Hagza = e )
C. ga [l T 3 F
D. 72 V. & 3T S-S
Options :

1. A-1V, B-1, C-1IL, D-I1

5> A-IIL B-1, C-I1, D-1IV

3. A-lL B-IIL C-1V, D-1

4. A-L B-1V, C-II, D-II

Question Number : 33 Question Id : 36496346387 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Mughal tradition of succession was based on

Options :



1. Rule of primogeniture wherein the eldest son inherited the throne.
2. Coparcenary wherein the inheritance was divided amongst all the sons.
3. Competition wherein the son who emerged victorious inherited the throne.

4. Favouritism wherein the most favoured son inherited the throne.

Question Number : 33 Question Id : 36496346387 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST 361 T T, (o 0T AT 417
Options :

1 BT & aﬂmgﬁwﬁmmaﬁ'ﬂﬁmmm

, TR o e dﬂuﬁmuwﬁwmgﬁ%ﬁm T 19T 7T 91

; TToeag] et S O Fersia aer ST 9 TTET 1 ST SraT

. QEITE STET GEEIET I &1 1 SR 2 Sar ol

Question Number : 34 Question Id : 36496346388 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The role of Yamuna in the layout of Shahjahanabad was to
Options :

1. ensure access to transport and water for all.

2. give control of the riverfront to the imperial palace.

3. provide river front access to the nobility.

4. build fortification and beautify the palace compound.



Question Number : 34 Question Id : 36496346388 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o 5 ~ S
IMESEETEE 1 IS LREC HT F EIRED ofto

Options:

1 HE % rt:."‘il{a'ﬂt‘“"lH"l Erﬁ-(u‘lt'f‘l SUcAGE ShLAT|
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; mﬁmmﬁ%uﬁa&ml

4, TReTEET STIT HEe 7 AT Hiaa et S|

Question Number : 35 Question Id : 36496346389 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following and choose the correct option.

(Tribal Groups) (Place)

A. Van Guijjars L. Himachal Pradesh

B. Lambadis II. Kashmir

C. Bakarwals III. Andhra Pradesh

D. Gaddis IV. Uttarakhand
Options :

1. A-I, B-1I, C-III, D-1V



2. A-1v, B-1II, C-II, D-I
3. A1V, B-], C-1II, D-II

4. A-1, B-1II, C-II, D-1IV

Question Number : 35 Question Id : 36496346389 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[ S = B+
M= AEd ol T o+ ;

ATTeaTHT T =
A. T TSR . TeA™== T
B. =HaTS! [1. ZHFHER
C. gFaT= [[I. @7 oesT
D. et V. 3ITrEuE
Options :

;AL B-II, C-III, D-IV

> A-1V, B-lII, C-II, D-1

5 A-IV, B-1, C-III, D-II

4 A-L B-IIL C-II, D-IV

Question Number : 36 Question Id : 36496346390 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The following were the distinctive features of 'Bhakti":
A) Anybody from any caste, gender, rich/poor could follow Bhakti

B) Only Brahmins could follow the path of Bhakti



C) Emphasized devotion to a God or Goddess
D) Emphasized performance of elaborate sacrifices and Yajnas

Choose one appropriate option.
Options :

1.B and D are true

2.B and C are true

3.Aand D are true

4. A and C are true

Question Number : 36 Question Id : 36496346390 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
< 3 TareTy = ety o -
A, TS ¥, Terelt ot SATTr 2, T o, <A T e ST 26T SFereer 3 Wart 2T
B. et TR 2 W o A 3T ST 3 T
C. 33T 71 31 % THE THI W FW 1
D. oy SifeTamT S 737 o e 0 S 47|
e Taee 1 5o Shiferm
Options:
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Question Number : 37 Question Id : 36496346391 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Put the following events in a chronological order:

A) Invention of steam engine

B) First cotton mill in India

C) Decline of Indian textiles

D) Invention of spinning jenny
Options :

1.A,D,C, B

2.A,D,B, C

3.D,A,CB

4.D,A B, C

Question Number : 37 Question Id : 36496346391 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

(AT FeATaAT %l H1A FHATER A0
A. T 557 T AT
B. Wﬂ‘ﬂ?ﬁ?ﬁﬁ FUET THeT T FLTI]
C. WA IS 31 Ua
D. Teat= ST =7 2w

Options :

A,D,C,B

1

, A,D,B,C

. D,A,C,B



'D,A,B,C

Question Number : 38 Question Id : 36496346392 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): The British wanted tribals to settle down and become peasant cultivators.

Reason (R): Settled peasants were easier to control and administer than people who were always

on the move.

Choose one appropriate option.

Options:

1. Both (A) and (R)are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true (R) is false.

4. Both (A) and (R) are false.

Question Number : 38 Question Id : 36496346392 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A, AOTRUT — ST FASTGET 1 T S T 12 R ST =1 2

B. W—Wwaﬁgj@%ﬂﬁm TR0 T AT ST A, @-ﬂﬁﬂﬁ#@ﬂﬂﬁw ol

Options:

A 3R B @21 2, B, A & 3fad sareaT 2

1

, Aﬁ?Bﬁ%ﬂlﬂB,Aﬁ&%d ST 98 2
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Question Number : 39 Question Id : 36496346393 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In which year was the Child Marriage Restraint Act passed in India?
Options :

1.1829

2.1835

3.1854

4.1929

Question Number : 39 Question Id : 36496346393 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

OA O Torg a1 a7 faare ey erferfaay e e mam

Options:
1. 1829
> 1835
3. 1854
4. 1929

Question Number : 40 Question Id : 36496346394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The Satyashodhak Samaj was founded by
Options:

1. Sri Narayana Guru

2. Swami Vivekananda

3.Jyotirao Phule

4. Keshub Chunder Sen

Question Number : 40 Question Id : 36496346394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AeISTeTeR TS EREINERE IR

Options :

1 a‘r.mmgﬁ%

O, SO SR
> T TdaFHEE T+

“-I"“ "'. =,
EENGHE R TS
3. ~

- -

4, FIEIAFEAF

Question Number : 41 Question Id : 36496346395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Temple entry movements during colonial period were instrumental in
Options:

1. challenging the caste system and abolishing untouchability.

2. opening temple doors to all people irrespective of caste



3. defying casteism and bringing equality in society.

4. highlighting the cast prejudices prevalent within society.

Question Number : 41 Question Id : 36496346395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT 1o § §ieT U997 === T =TT 417

Options :
1 ElGRP] ﬁﬂﬁﬂ’]’%ﬁ TR FETIAT S|

, Tt o e, for STt siewTe, et o1 et 2 @

- £ = i
; ET%MW?H—MH TR 99T § 994991 1|
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Question Number : 42 Question Id : 36496346396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who raised the slogan, ‘Freedom is my birth right and I shall have it?
Options :

1. Subhas Chandra Bose

2. Mahatma Gandhi

3. Bhagat Singh

4. Bal Gangadhar Tilak

Question Number : 42 Question Id : 36496346396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

TE AR T T2 — Tea H S es, ST & S 3 39 o T’
Options :
1 TATEZ A

,  TETeHT Tieft

3, W 14

4. ST TRTTER GRED

Question Number : 43 Question Id : 36496346397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Why was the withdrawal of Ilbert Bill opposed by Indians? Select the correct option from the

following.

Options :

1. It disallowed Indians to possess arms.

2. It silenced those who were critical of the government.
3. It highlighted the racial attitudes of the British in India.

4. Indians did not oppose the withdrawal of Ilbert Bill.

Question Number : 43 Question Id : 36496346397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

oo o > e i [l = o £
CILGIE IR EcﬁnﬁdlqmﬁﬁnuﬂMﬂﬂ|qtlﬂw|§w,wﬁmw s

Options :
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Question Number : 44 Question Id : 36496346398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The foreign policy of non-alignment was formed with the idea of

Options:

1. remaining isolated from alliances with the USA and USSR to avoid confrontations and
safeguarding national interests.

2. remaining neutral with the USA and the USSR to continue diplomatic relations with both

countries.

3. creating a third front of power centre made up of newly independent countries to rival both USA

and USSR.

4. Playing an active role in mediating between the USA and USSR for a humanitarian co-existence.

Question Number : 44 Question Id : 36496346398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TE(ATETT 261 faaer i = T o &= TE TE o)
Options :
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Question Number : 45 Question Id : 36496346399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tropic of cancer passes through which of the following Indian states?
Options :

1. Maharashtra

2. Odisha

3. Madhya Pradesh

4. Uttar Pradesh

Question Number : 45 Question Id : 36496346399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T3 @] Mgy 5 F fhe 9T =g %‘gmrﬂ 2

Options :



Question Number : 46 Question Id : 36496346400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct?
a. Earth takes 365 i days to revolve around the sun.

b. We consider a year as consisting of 365 days only and ignore six hours for the sake of
convenience.

c. Every fourth year, February is of 28 days instead of 29 days.

Options:

1. (a) and (b) only
2. (a) and (c) only
3. (b) and (c) only

4. only (a)

Question Number : 46 Question Id : 36496346400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ffafEs FoR o § S8 FUE 98 28

A qv.aﬁaﬁsi ot & e =1 =T T B
B. T S W I 365 i 1 A4 # 79 e 3 o 6 71 o 3 7 e
C. TeI% =Y I8 WaT 29 3§95 28 e Ea B

Options:

1. I A AR B
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3, FIAB SR C



Question Number : 47 Question Id : 36496346401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the earth has been divided into twenty four time zones of equal longitudinal expansion, then

each zone would cover of longitude.
Options:

1.10°

2.15°

3.20°

4. 30°

Question Number : 47 Question Id : 36496346401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Wq%aﬁwm ST T 3 T 04 W T 5 TR T3 e 2 7 T 6 FE
ST

Options :

1. 10°

Question Number : 48 Question Id : 36496346402 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Arrange these regions starting from North-West to South-East direction India.
a. Aravalis

b. Vindhya Range

c. Great Indian Desert

d. Deccan Plateau

e. Eastern Ghat

Select the correct answer using the code given below.
Options :

1. a-b-c-d-e

2. b-a-d-c-e

3. c-a-b-d-e

4. c-b-a-d-e

Question Number : 48 Question Id : 36496346402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

W%Hﬁﬂﬁﬁ%@%ﬁ&%aﬁﬂﬁm%ﬂsﬂ arﬁm hHE G, £|T?:u{:
b. faem sfge
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Options :



1. a—=b—-c—-d-e

> b—a-d-c—e

3 c—a—-b-d-e

4. c—b—-a-d-e

Question Number : 49 Question Id : 36496346403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Find the odd one out in the context of the components of a map.
Options :

1. Distance

2. Direction

3. Symbols

4. Scale

Question Number : 49 Question Id : 36496346403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[ = Ty . 5 b + [ o i
M= H | A=A o =2%h oh 9 H H (994 ahl =194 &h|
Options :
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1. =

2, feom
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Question Number : 50 Question Id : 36496346404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following soil is sticky when wet and difficult to work on unless tilled immediately

after the first shower or during the pre monsoon period?
Options :

1. Red and Yellow Soil

2. Black soil

3. Laterite soil

4. Alluvial soil

Question Number : 50 Question Id : 36496346404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 36496346405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider these statements for vegetation and choose the correct option:
(A) Grass lands grow in the region of moderate rain and shrubs grow in the dry region.
(B) The growth of vegetation depends on temperature and moisture.

(C) The change in type of natural vegetation occur mainly because of the changes in climatic

conditions.

Options :

1. Only Ais true.

2.0nly A and B are true.
3.0nly C and B are true.

4. All A,B and C are true.

Question Number : 51 Question Id : 36496346405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 36496346406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.

Options :

1. Oxygen is the most plentiful gas in the air.

2. Oxygen content in the air remains constant as humans and animals take it and plants produce

it.
3. Oxygen is called a greenhouse gas.

4. Increased level of oxygen results in global warming.

Question Number : 52 Question Id : 36496346406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e FUT FT 797

Options :
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Question Number : 53 Question Id : 36496346407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements A and B and choose the correct option.
(A) Greater the pressure difference between pressure zones the faster the wind moves.

(B) Air that moves from high to low pressure zones makes wind.

Options :

1. Both (A) and (B) are true and (B) is the correct explanation of (A)

2. Both (A) and (B) are true but (B) is not the correct explanation of (A)
3. (A) is true but (B) is false

4. (B) is true but (A) is false

Question Number : 53 Question Id : 36496346407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 36496346408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching transportation theme in her class, a teacher used different types of tickets like bus

ticket, rail ticket etc. Consider these statement in above context and choose the correct option.

(A) Through these tickets she can establish the relationship between cost, distance and various

characteristics of different means of transportation.

(B) She can also discuss about types of human settlement using the tickets.
Options :

1. Both (A) and (B) are correct

2. Both (A) and (B) are incorrect

3. (A) is correct while (B) is incorrect

4. (A) is incorrect while (B) is correct

Question Number : 54 Question Id : 36496346408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 36496346409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The seasonal movement of people in search of new pastures is called:
Options :

1. Migration

2. Immigration

3. Emigration

4. Transhumance

Question Number : 55 Question Id : 36496346409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 56 Question Id : 36496346410 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are the push factors affecting migration?

(A) Natural disaster

(B) Scarcity of water

(C) Higher standards of living

(D) Education

Choose the correct option.
Options:

1. Only (A) and (B)

2. Only (B) and (C)

3. Only (C) and (D)

4. Only (A) and (D)

Question Number : 56 Question Id : 36496346410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 36496346411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements and select the correct answer from the options given below:
Statement A: Agriculture is a primary activity

Statement B: Agriculture includes growing crops, fruits, vegetables, flowers and rearing of

livestock.

Options :

1. Ais true, B is false
2. Ais false, B is true
3.Aand B are true

4. A and B are false

Question Number : 57 Question Id : 36496346411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 36496346412 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

St. Thomas is believed to have come to this state nearly 2000 years ago and is credited with

bringing Christianity to India. Which is that state?
Options :

1. Karnataka

2. West Bengal

3. Kerala

4. Tamil Nadu

Question Number : 58 Question Id : 36496346412 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 36496346413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements with respect to diversity:-

(A) Diversity is a source of strength for India.

(B) There is unity in India’s diversity.

(C) Diversity can also be a source of discrimination.

(D) Historical and geographical factors contribute to diversity.

Which of the above are true?
Options :

1.A,B,CandD

2.A,Band D

3.A,Band C

4. Aand B

Question Number : 59 Question Id : 36496346413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 36496346414 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If you are elected as the President of India which of the following decisions can you take on your

own?

Options :

1. Select the person you like as Prime Minister.

2. Dismiss Prime Minister who has a majority in Lok Sabha.

3. Ask for reconsideration of a bill passed by both the Houses.

4. Nominate the leaders of your choice to the Council of Ministers.

Question Number : 60 Question Id : 36496346414 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 36496346415 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct about Sedition Act, 18707

Options :

1. The Act ensured that any person protesting or criticizing the British government could be
arrested without trial.

2. The Act ensured greater equality and justice for Indians during the British Raj.

3. The Act ensured that Indian legal professionals are respected in the colonial courts.

4. The Act ensured rights to the Indian nationalists to protest against colonial governance.

Question Number : 61 Question Id : 36496346415 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frfeafaa & & F-ar I95=7 1870 o TeErE Sfaf=y & g 3 92 2
Options :

S ST T 7% A o T R 6 T e e 7 e 1 oA e £
1 TR AT, e 1 S (ol o et




5 sﬁaﬂ%ﬁw%%ﬁm ﬁﬁmﬁ%%@aﬁﬂwmm R =T ﬂﬁﬁéﬁ%ﬂ'ﬂ
5 T AT 7 ST STRTerl § HIET 1 [T o T i e o]

. T ST 7 U T o [, WIS T % (ot 3 ST 1 i (e

Question Number : 62 Question Id : 36496346416 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the group of non-farm activities in a rural area.
Options:

1. Basket weaving, Paddy transplanting, Pottery making
2. Pottery making, Weeding, Basket weaving

3. Brick making, Pottery making, Weeding

4. Pottery making, Weaving, Brick making

Question Number : 62 Question Id : 36496346416 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 36496346417 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Buying and selling of which of the following goods is least likely to be witnessed in a weekly

market?

Options :

1. Laptop covers and mobile chargers
2. Car engines and wheels

3. Fridge covers and teapot-sets

4. Nail-cutters and cosmetics

Question Number : 63 Question Id : 36496346417 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 36496346418 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“It is disgraceful to live at the cost of one’s self-respect. Self-respect is the most vital factor in life.
Without it, man is a cipher. To live worthily with self-respect, one has to overcome difficulties. It is
out of hard and ceaseless struggle alone that one derives strength, confidence and recognition”.

Who said this?
Options :

1. Mahatma Gandhi
2. B. R Ambedkar
3. Jawaharlal Nehru

4. Chandrashekhar Azad

Question Number : 64 Question Id : 36496346418 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 36496346419 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which would be the best example to challenge students’ stereotypes regarding ‘gender and
occupation’?

Options :

1. Male pastry chef

2. Male space scientist

3. Male Bharatnatyam Dancer

4. Male playback singer

Question Number : 65 Question Id : 36496346419 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 36496346420 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Breaking a law or breach/infringement of Fundamental Rights is an act of:
Options :

1. Eviction



2. Coercion
3. Violation

4. Compensation

Question Number : 66 Question Id : 36496346420 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 36496346421 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following examples can be used to discuss the concept of Universal Adult Franchise

in a classroom?

(A) Mujleha (19 year) is casting her vote in an assembly election.

(B) Anna (31 year) is casting her vote in the Lok Sabha election.

(C) Jaspreet (17 year) is casting his vote in an election for school council.

Choose the correct option.



Options :
1.A,Band C
2.Aand B
3.Aand C
4.BandC

Question Number : 67 Question Id : 36496346421 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 36496346422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which constitutional authority examines a dispute between the centre and the states on exercise

over their respective powers?

Options :

1. The President



2. The Supreme Court
3. The Comptroller and Auditor General

4. The Attorney General

Question Number : 68 Question Id : 36496346422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 36496346423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On International Women'’s Day, women all over the world come together to celebrate and renew
their struggles. This would fall under which of the following strategies with regard to women'’s

movement.

Options :

1. Campaigning

2. Protesting

3. Raising awareness

4. Showing solidarity



Question Number : 69 Question Id : 36496346423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 36496346424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are the aims of Mid day meal programme?
A) Increasing enrolment and retention of children in schools.

B) Reinforcing caste prejudices among school children.

C) Reducing hunger and increased concentration in studies.

D) Decreasing the malnutrition levels prevailing among children.

Choose the appropriate option.
Options :

1.A,Band C



2.A,CandD
3.B,Cand D

4. A,Band D

Question Number : 70 Question Id : 36496346424 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 36496346425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The teaching of Social Science is aimed at
A) Helping learners develop great awareness of themselves.

B) Providing learners the skills to carry out independent investigation of problems.



C) Training learners to carry out their civic duties.
D) The transaction of stage specific knowledge.

Choose the appropriate option given below.
Options :
1.Dand C
2.Dand A
3.AandB

4. Aand C

Question Number : 71 Question Id : 36496346425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 36496346426 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The fundamental feature of an inclusive Social Science classroom is:
Options :

1. Special provision for the education of exceptional learners.

2. Enrolment of all children.

3. Activities that meet the needs of mostly average children.

4. Use of expensive teaching-learning material.

Question Number : 72 Question Id : 36496346426 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 36496346427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A progressive Social Science teacher always motivates his or her students to:

Options :



1. Interact actively in any discussion in the classroom.
2. Participate occasionally.
3. Acquire knowledge of the content given.

4. Ask all the queries they have.

Question Number : 73 Question Id : 36496346427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 36496346428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The fundamental principle that governs the pedagogical approach of the ‘Social and Political life’

textbooks is that children learn best through-
Options:

1. sequential remembrance of the facts.

2. an experiential understanding of the concepts.
3. a visual rich textbook reading.

4, proper handholding by giving them correct answers.



Question Number : 74 Question Id : 36496346428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 36496346429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements A and B and choose the correct option.

A) In a ‘Social & Political life’ subject’s classroom, the institutions and processes are discussed by
incorporating them in the form of fictional narratives, or case-studies or exercises that draw on

child’'s experience.

B) Children learn best through concrete experiences.

Options :

1. Both A and B are true and B is the correct explanation for A

2. Both A and B are true and B is not the correct explanation for A
3. Aistrue, Bis false

4. Both A and B are false



Question Number : 75 Question Id : 36496346429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 36496346430 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For a field trip to be successful, it needs to be organized carefully at three stages viz;

Choose the correct order.

Options:

1. Planning, execution and follow-up.

2. Execution, discussion and planning.

3. Planning, discussion and presentation.

4. Planning, discussion and execution.



Question Number : 76 Question Id : 36496346430 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 36496346431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While making a lesson plan about the concept of ‘Democracy’, which one of the following would be

considered first?

Options:

1. Planning the objectives of the topic

2. Deciding the evaluation strategies

3. Choosing the appropriate pedagogical strategies

4, Selecting appropriate resources materials

Question Number : 77 Question Id : 36496346431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 36496346432 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following is the most desired way to use textbooks in classroom activities?
Options :

1. Asking students to read aloud from the textbook.

2. Asking students to engage with in-text questions and do exercises.

3. Asking students to copy from textbooks and learn facts.

4. Seldom use textbooks and rely on guidebooks.

Question Number : 78 Question Id : 36496346432 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 36496346433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Critical and creative thinking are examples of:
Options :

1. Simple skills

2. Complex skills

3. Basic skills

4. Study skills

Question Number : 79 Question Id : 36496346433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 36496346434 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The following questions are generally used in Social Science classes. Choose those which provide a

greater scope for developing of critical thinking?

A. Why is the Salt March considered a symbol of resistance against colonialism?

B. The Salt March was an effective symbol of resistance against colonialism. Do you agree with the

statement? Justify your answer.

C. Discuss the Salt March to make clear why it was an effective symbol of resistance against

colonialism.

D. Why did political parties differ sharply over the question of separate electorate?

Choose the correct option.
Options :

1.0nly A, Band C

2.0nly B

3.0nlyBand C

4.0nly D

Question Number : 80 Question Id : 36496346434 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 36496346435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

From the content point of view, the upper primary Social Science classes provide opportunities for
A. Developing analytical, social and cultural skills

B. Rote memorization

C. Introduced to political realities

D. Enhancement of aesthetic sensibilities



E. Developing reading and writing abilities

Choose the correct option.
Options :

1.A,B,CandD
2.A,B,Cand E
3.A,C,DandE

4.B,C,Dand E

Question Number : 81 Question Id : 36496346435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 36496346436 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a misconception about social science as a subject?

Options :

1. Social science provides opportunity to develop informed ways of looking at the contemporary
world.

2. Social science enables learners to critically observe and analyse the issues and processes

around them.
3. Social science is a boxful of general knowledge facts to be learnt by rote.

4. Social science helps students empathise with the people’s struggle for justice, equality and

dignity.

Question Number : 82 Question Id : 36496346436 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 36496346437 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



If any issue leads to contentious discussion within the classroom, then what is expected from a

teacher to do in such a situation?

(A) Teacher should silence all the students and defer the discussion for next time.
(B) Teacher should set respectful rules for discussing such issues.

(C) Teacher should ensure that no child feels left out from the discussion.

Choose the correct option.

Options :
1.A,Band C
2.Aand B
3.Aand C

4. BandC

Question Number : 83 Question Id : 36496346437 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. B & C

Question Number : 84 Question Id : 36496346438 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the statements A and B and choose the correct option.

Statement A: A secondary source could become a primary source depending on your research

question.

Statement B: If you are researching the cause of the National movement, a documentary about
the National movement will be a secondary source. But if you are researching about filmmaking

techniques used in historical documentaries then it will be a primary source.

Options:

1. Both (A) and (B) are true and (B) is the correct explanation of (A).

2. Both (A) and (B) are true but (B) is not the correct explanation of (A).
3. (A) is true but (B) is false.

4. Both (A) and (B) are false.

Question Number : 84 Question Id : 36496346438 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 36496346439 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher in Delhi wants her students to find out about the life of people in Sahara Desert. What

task/tasks could she give her students for this?
(A) Prepare a project based on secondary sources
(B) Make a field visit

(C) Show a documentary on Sahara Desert

Choose the correct option.
Options :

1. (A) and (B)

2.(B) and (C)

3. (A) and (C)

4. Only (A)

Question Number : 85 Question Id : 36496346439 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 36496346440 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not generally included in assessment rubric?
Options :

1. Performance criteria

2. Rating scale

3. Performance indicators

4, List of tasks completed

Question Number : 86 Question Id : 36496346440 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 36496346441 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is true about the portfolio assessment?

A. It is one of the advanced varieties of norm-referenced tests

B. Contains a student’s self selected samples of work done in a curricular area

C. Contains subject-teacher’s selection of work samples by a student in a curricular area

D. Contains a student’s self selected samples to indicate progress achieved in a curricular area
E. It is used by schools for certification of students

Choose the correct option.
Options :

1.A,B,CandE
2.B,C,DandE

3.B,Dand E



4.C,DandE

Question Number : 87 Question Id : 36496346441 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 36496346442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which assessment frameworks provide(s) learners a sense of accomplishment and help(s) them to
know where they are and where they need to be and requires sharing of their progress at regular

intervals?

A. Assessment of Learning



B. Assessment for Learning
C. Assessment as Learning

D. Summative Assessment

E. Formative Assessment

Choose the correct option.
Options :
1.Aand B
2.Band C
3.Aand C
4.CandE

Question Number : 88 Question Id : 36496346442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4 CHARE

Question Number : 89 Question Id : 36496346443 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which cognitive domain is assessed in the question, 'Examine the similarities and differences in

the teaching of Buddhism and Jainism'?
Options:

1. Remember

2. Understand

3. Analyze

4, Create

Question Number : 89 Question Id : 36496346443 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 36496346444 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A social science teacher assigns students the task of writing a short essay on ‘The Great Bengal
Famine'. After the students have completed the task, she asks each one to examine their essay by
verifying and comparing it using a given criteria. What assessment strategy is the teacher using

here?

Options :

1. Peer assessment

2. Self assessment

3. Portfolio assessment

4. Group assessment

Question Number : 90 Question Id : 36496346444 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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SectionId: 3649631503

Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649632707
Question Shuffling Allowed : Yes

Question Id : 36496346445 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions/
complete the statements that follow by choosing the correct
options from the given ones.

Today we find ourselves at the height of our civilization, our
technological development, and our social and material
complexity. These are all sign of progress. And yet, all is not
as it seems and once in a while it occurs to us to look into
the past to discover our future.

Dholavira is among the two most notable excavations of the
Indus Valley Civilisation or Harappan Civilisation, which
existed about 4500 years ago. Another site easier to reach is
Lothal, but it has shown signs of a pale education. Dholavira
gives you that opportunity to observe how while being
surrounded by the great desert of Kuich in a severe
environment, the Harappan civilisation displays a unique
understanding of the mind: Here we can find the earliest and
the best in the world, a planned water conservation system.

Dholavira, locally known as Kotda (meaning a large fort), is
one of the islands in the great desert of Kutch. Located in
the north western corner of the Khadir Island, the city is
spread over 100 hectares of semi-arid land. During the

month when the rest of the desert is submerged by the
monsoon, two water channels culvert near Dholavira.
Mausar in the north and Manhar in the south. The journey to
Dholavira is beautiful, taking you to the greatest desert salty
plains, where you can find wildlife like chinkara gazelle, nilgai
(blue bull, Asia’'s largest antelope), flamingo and other bird
life.

Sub questions

Question Number : 91 Question Id : 36496346446 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Excavations made at Dholivara have established that
Indus Valley civilisation

1. had progressed more than what we have today.
2. had progressed less than what we have today.
3. had progressed as much as we have today.

4. had made significant progress.

Options :



1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496346447 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When we look into our past we

can plan a framework of our future development.
feel proud of our achievements in the past.

. feel proud of what we have achieved today.

can analyse various factors that are responsible
for our progress.

N

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496346448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

That Dholavira had enjoyed a planned water

conservation system is

1. a source of curiosity for us.
2. shocking for us.

3. a pleasant surprise for us.
4. a kind of disbelief.

Options :
1.1
2.2
3.3



4.4

Question Number : 94 Question Id : 36496346449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.

(a) Arid surrounding can become an implement in the
way of mental development.
(b) Lothal was not a seat of great learning.

1. (a)is right and (b) is wrong.
2. (b)is right and (a) is wrong.
3. Both (a) and (b) are right.

4. Both (a) and (b) are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496346450 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Study the following :

(a) Dholavira is not lacking in flora and fauna.

(b) Mausar and Manhar are sources of water supply to
Dholavira.

(c) Dholavira is part of Khadir island.

1. (a) and (b) are right but not (c)
2. (b)and (c) are right but not (a)
3. (a)and (b) are wrong but not (c)
4. (b) and (c) are wrong but not (a)
Options:

1.1

2.2



3.3
4.4

Question Number : 96 Question Id : 36496346451 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the phrase ‘two water channels’, the word
‘channels’ means

. rivers

. springs
. streams
. lakes

BOWN -

Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496346452 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘Antelope’ is a kind of a

1. deer

2. cat

3. leopard
4. cow

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496346453 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

\We often think that all signs point to progress.
The underlined clause is :

1. Principal clause
2. Noun clause

3. Adjective clause
4. Adverb clause

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496346454 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘all signs point to progress’ The underlined word is
alan

1. Noun

2. Verb

3. Adverb

4. Preposition

Options :
1.1
2.2
3.3
4.4

Question Id : 36496346445 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions/
complete the statements that follow by choosing the correct
options from the given ones.

Today we find ourselves at the height of our civilization, our
technological development, and our social and material
complexity. These are all sign of progress. And yet, all is not
as it seems and once in a while it occurs to us to look into
the past to discover our future.

Dholavira is among the two most notable excavations of the
Indus Valley Civilisation or Harappan Civilisation, which
existed about 4500 years ago. Another site easier to reach is
Lothal, but it has shown signs of a pale education. Dholavira
gives you that opportunity to observe how while being
surrounded by the great desert of Kuich in a severe
environment, the Harappan civilisation displays a unique
understanding of the mind: Here we can find the earliest and
the best in the world, a planned water conservation system.

Dholavira, locally known as Kotda (meaning a large fort), is
one of the islands in the great desert of Kutch. Located in
the north western corner of the Khadir Island, the city is
spread over 100 hectares of semi-arid land. During the

month when the rest of the desert is submerged by the
monsoon, two water channels culvert near Dholavira.
Mausar in the north and Manhar in the south. The journey to
Dholavira is beautiful, taking you to the greatest desert salty
plains, where you can find wildlife like chinkara gazelle, nilgai
(blue bull, Asia’'s largest antelope), flamingo and other bird
life.

Sub questions

Question Number : 91 Question Id : 36496346446 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Excavations made at Dholivara have established that
Indus Valley civilisation

1. had progressed more than what we have today.
2. had progressed less than what we have today.
3. had progressed as much as we have today.

4. had made significant progress.

Options :



1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496346447 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When we look into our past we

can plan a framework of our future development.
feel proud of our achievements in the past.

. feel proud of what we have achieved today.

can analyse various factors that are responsible
for our progress.

N

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496346448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

That Dholavira had enjoyed a planned water

conservation system is

1. a source of curiosity for us.
2. shocking for us.

3. a pleasant surprise for us.
4. a kind of disbelief.

Options :
1.1
2.2
3.3



4.4

Question Number : 94 Question Id : 36496346449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.

(a) Arid surrounding can become an implement in the
way of mental development.
(b) Lothal was not a seat of great learning.

1. (a)is right and (b) is wrong.
2. (b)is right and (a) is wrong.
3. Both (a) and (b) are right.

4. Both (a) and (b) are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496346450 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Study the following :

(a) Dholavira is not lacking in flora and fauna.

(b) Mausar and Manhar are sources of water supply to
Dholavira.

(c) Dholavira is part of Khadir island.

1. (a) and (b) are right but not (c)
2. (b)and (c) are right but not (a)
3. (a)and (b) are wrong but not (c)
4. (b) and (c) are wrong but not (a)
Options:

1.1

2.2



3.3
4.4

Question Number : 96 Question Id : 36496346451 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the phrase ‘two water channels’, the word
‘channels’ means

. rivers

. springs
. streams
. lakes

BOWN -

Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496346452 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘Antelope’ is a kind of a

1. deer

2. cat

3. leopard
4. cow

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496346453 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

\We often think that all signs point to progress.
The underlined clause is :

1. Principal clause
2. Noun clause

3. Adjective clause
4. Adverb clause

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496346454 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘all signs point to progress’ The underlined word is
alan

1. Noun

2. Verb

3. Adverb

4. Preposition

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 3649632708

Question Shuffling Allowed : Yes

Question Id : 36496346455 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

| wandered lonely as a cloud

That floats on high o’er vales and hills,
When all at once | saw a crowd,

A host of golden daffodils;

Besides the lake, beneath the trees,
Fluttering and dancing in the breeze.

Continuous as the stars that shine
And twinkle in the milky way,
They stretched in never-ending line

Along the margin of a bay:

Ten thousand saw | at a glance,

Tossing their head in sprightly dance.
The waves beside them danced; but they
Outdid the sparkling waves in glee:

A poet could not but be gay,

In such a jocund company;

| gazed — and gazed — but little thought
What wealth the show to me had brought.
For oft, when on my couch | lie.

In vacant or in pensive mood,

They flash upon that inward eye

Which is the bliss of solitude:

And then my heart with pleasure fills

And dances with the daffodils.

Sub questions

Question Number : 100 Question Id : 36496346456 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the following statements

A) The poet is standing near a lake.
B) He meets a happy crowd of your people there.
C) They were all watching the dancing daffodils.

1. (A)is true but (B) is false
2. (B)is true but (A) is false
3. (C)is true but (A) is false
4. Both (B) and (C) are false
Options :

1.1

2.2
3.3
4.4

Question Number : 101 Question Id : 36496346457 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet's feeling as he stands beside the lake is/are

1. lonely and sad

2. sad and nostalgic

3. nostalgic but not sad
4. lonely but not sad

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496346458 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The poet is depicted as a lover of the

A) beauty of nature.
B) healing quality of nature.
C) milky way.

) is true and (B) and (C) are false
) and (B) are false and (C) is true
) and (B) are true and (C) is false
)and (C) are true and (A) is false

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496346459 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following lines suggest that the poet
stands mesmerized?

1. Fluttering and dancing in the breeze.

2. And twinkle in the Milky Way.

3. | gazed --- and gazed — but little thought
4. They flash upon that inward eye

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496346460 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Beside the lake, beneath the trees’
Which figure speech is used in this line?

1. Metaphor
2. Simile

3. Alliteration
4. Oxymoron

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496346461 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

| wandered lonely as a cloud
The figure of speech used by the poet here is

1. Metaphor
2. Simile

3. Alliteration
4. Oxymoron

Options :
1.1
2.2
3.3
4.4

Question Id : 36496346455 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



| wandered lonely as a cloud

That floats on high o’er vales and hills,
When all at once | saw a crowd,

A host of golden daffodils;

Besides the lake, beneath the trees,
Fluttering and dancing in the breeze.

Continuous as the stars that shine
And twinkle in the milky way,
They stretched in never-ending line

Along the margin of a bay:

Ten thousand saw | at a glance,

Tossing their head in sprightly dance.
The waves beside them danced; but they
Outdid the sparkling waves in glee:

A poet could not but be gay,

In such a jocund company;

| gazed — and gazed — but little thought
What wealth the show to me had brought.
For oft, when on my couch | lie.

In vacant or in pensive mood,

They flash upon that inward eye

Which is the bliss of solitude;

And then my heart with pleasure fills

And dances with the daffodils.

Sub questions

Question Number : 100 Question Id : 36496346456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Read the following statements

A) The poet is standing near a lake.
B) He meets a happy crowd of your people there.
C) They were all watching the dancing daffodils.

1. (A) is true but (B) is false
2. (B)is true but (A) is false
3. (C) is true but (A) is false

4. Both (B) and (C) are false

Options :



1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496346457 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet's feeling as he stands beside the lake is/are

1. lonely and sad

2. sad and nostalgic

3. nostalgic but not sad
4. lonely but not sad

Options:
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496346458 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The poet is depicted as a lover of the
A) beauty of nature.

B) healing quality of nature.
C) milky way.

1. (A)is true and (B) and (C) are false
2. (A) and (B) are false and (C) is true
3. (A) and (B) are true and (C) is false
4. (B) and (C) are true and (A) is false

Options :
1.1
2.2



3.3
4.4

Question Number : 103 Question Id : 36496346459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following lines suggest that the poet
stands mesmerized?

1. Fluttering and dancing in the breeze.

2. And twinkle in the Milky Way.

3. | gazed --- and gazed — but little thought
4. They flash upon that inward eye

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496346460 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Beside the lake, beneath the trees’
Which figure speech is used in this line?

1. Metaphor
2. Simile

3. Alliteration
4. Oxymoron

Options :
1.1
2.2
3.3
4.4



Question Number : 105 Question Id : 36496346461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

| wandered lonely as a cloud
The figure of speech used by the poet here is

1. Metaphor
2. Simile

3. Alliteration
4. Oxymoron

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649632709

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 36496346462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

On wining a trophy in Regional Sports Mest, the teacher is applauding the school cricket team caption by
using an idiomatic sentence, “My boys you have added feather to your cap by this glorious victory.” Using
this statement the teacher is applying which of the following principles of teaching English as a Second

language?

1. Principle of direct association
2. Principle of vocabulary control
3. Principle of contextualization
4. Principle of coordination

Options :
1.1
2.2
3.3
4.4



Question Number : 106 Question Id : 36496346462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

On wining a trophy in Regional Sports Meet, the teacher is applauding the school cricket team caption by
using an idiomatic sentence, “My boys you have added feather to your cap by this glorious victory.” Using
this statement the teacher is applying which of the following principles of teaching English as a Second

language?

1. Principle of direct association
2. Principle of vocabulary control
3. Principle of contextualization
4. Principle of coordination

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496346463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher writes the objective of teaching English on a particular day as -
“To enable the students to understand English Speech’
This is an objective that comes under

1. Semantic Aim
2. Graphic Aim

3. Phonetic Aim
4. Productive Aim

Options :
1.1
2.2
3.3
4.4



Question Number : 107 Question Id : 36496346463 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher writes the objective of teaching English on a particular day as —
“To enable the students to understand English Speech”
This is an objective that comes under

1. Semantic Aim

2. Graphic Aim
3. Phonetic Aim
4. Productive Aim

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496346464 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which method / approach advocates plausible ways of engaging learner’s to leam a second language?

1. Structural approach

2. Elective Approach

3. Constructivism

4. Grammar-Translation Method

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496346464 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which method / approach advocates plausible ways of engaging leamer’s to leam a second language?

1. Structural approach

2. Elective Approach

3. Constructivism

4. Grammar-Translation Method

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496346465 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following should not be understood by the principle of writing as representation of speech?

1. Teaching of the graphic symbols with the language units they represent, are separate task.

2. Teaching reading and writing are distinct from teaching speech be

3. The conventional principles of learning emphasize that language learning starts with teaching of
noticing and reading

4. Language should be taught to the students with the help of a sound system.

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496346465 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following should not be understood by the principle of writing as representation of speech?

1. Teaching of the graphic symbols with the language units they represent, are separate task.

2. Teaching reading and writing are distinct from teaching speech be

3. The conventional principles of learning emphasize that language learning starts with teaching of
noticing and reading

4. Language should be taught to the students with the help of a sound system.

Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 36496346466 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Really Edison invented electric bulb, Columbus discovered America, but Kalidas created Shakuntala’
Teacher should have the ability to present comparison well in his teaching which is reflected by the
statement. What does she lack?

1. Skill of composition
2. Scientific temper

3. Capacity to motivate
4. Developing Creativity

Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 36496346466 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Really Edison invented electric bulb, Columbus discovered America, but Kalidas created Shakuntala”
Teacher should have the ability to present comparison well in his teaching which is reflected by the
statement. What does she lack?

1. Skill of composition
2. Scientific temper

3. Capacity to motivate
4. Developing Creativity

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496346467 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a teacher wishes to find out the problems of teaching English in her Classroom and its remedial measures,
which of the following is best suitable to her task in hand?

1. Action Research

2. Experimental Research

3. Researching learner’s leaning.
4. Descriptive Research

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496346467 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



If a teacher wishes to find out the problems of teaching English in her Classroom and its remedial measures,
which of the following is best suitable to her task in hand?

1. Action Research

2. Experimental Research

3. Researching learner's leaning.
4. Descriptive Research

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496346468 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher teaches her student first the questions with ‘Do’ form (e.g. do you like it?) before teaching the
questions with interrogative words (e.g. what do you like to eat?)
Teaching this way , which of the following principle is associated to

1. Principal of Graded Pattern

2. Principle of Teaching the Problems
3. Principle of Patterns as Habits

4. Principles of Shaping responses

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496346468 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ateacher teaches her student first the questions with ‘Do’ form (e.g. do you like it?) before teaching the
questions with interrogative words (e.g. what do you like to eat?)
Teaching this way , which of the following principle is associatedto

1. Principal of Graded Pattern

2. Principle of Teaching the Problems
3. Principle of Patterns as Habits

4. Principles of Shaping responses

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496346469 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Skills of Expression or Productive Skills include -

1. Listening and Reading
2. Listening and Writing
3. Reading and Writing
4. Writing and Speaking

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496346469 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Skills of Expression or Productive Skills include

1. Listening and Reading
2. Listening and Writing
3. Reading and Writing
4. Writing and Speaking

Options :
1.1
2.2
3.3

4.4

Question Number : 114 Question Id : 36496346470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the items regarding English Teaching given in list A with their interpretation in List B -

List A

List B

A | Teaching Strategies a

Set of assumptions dealing
with the nature of language
teaching and learing.

B Teaching Techniques b

Way of teaching a language
based on systematic
principles and procedures

C | Teaching method c

Specify way of conducting
instructional activities with a
purpose to keep students
involved

D | Teaching Approach d

Any means or tools used by
the teacher to promote
stimulate or motivate
learning

Options :
1.1
2.2

3.3




4.4

Question Number : 114 Question Id : 36496346470 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the items regarding English Teaching given in list A with their interpretation in List B -

List A List B

A | Teaching Strategies a | Setof assumptions dealing
with the nature of language
teaching and learning.

B Teaching Techniques b | Way of teaching a language
based on systematic
principles and procedures
C | Teaching method ¢ | Specify way of conducting
instructional activities with a
purpose to keep students
involved

D | Teaching Approach d | Any means or tools used by
the teacher to promote
stimulate or motivate
learning

Options :
1.1
2.2
3.3

4.4

Question Number : 115 Question Id : 36496346471 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the following and choose the correct alternative
Assertion (A): Reading and writing skills help in critical thinking at primary level.
Reasoning (R) : Critical thinking is a sub-skill of reading and writing

1. Ais true R is not true

2. Both Aand R are true and R is the correct explanation of A

3. Both Aand R are true and R is not the correct explanation of A
4. Ais not true but R is true

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496346471 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following and choose the correct alternative
Assertion (A): Reading and writing skills help in critical thinking at primary level.
Reasoning (R) : Critical thinking is a sub-skill of reading and writing

1. Alis true R is not true

2. Both Aand R are true and R is the correct explanation of A

3. Both Aand R are true and R is not the correct explanation of A
4. Alis not true but R is true

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496346472 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Read the following and choose the correct alternative

Assertion (A): For successful language learning experience the leamers is exposed to an adequate amount
of the data of the language.

Reasoning (R) : The reference to ‘adequate data’ suggests that a single textbook presented over a year to
teach students is inadequate

1. Ais true R is not true

2. BothAand R are true and R is the correct explanation of A

3. Both Aand R are true and R is not the correct explanation of A
4. Ais not true but R is true

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496346472 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following and choose the correct alternative

Assertion (A): For successful language learning experience the leaners is exposed to an adequate amount
of the data of the language.

Reasoning (R) : The reference to ‘adequate data’ suggests that a single textbook presented over a year to
teach students is inadequate

1. Aistrue R is not true

2. Both Aand R are true and R is the correct explanation of A

3. BothAand R are true and R is not the correct explanation of A
4. Ais not true butR is true

Options :
1.1
2.2
3.3

4.4



Question Number : 117 Question Id : 36496346473 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which is not a method of teaching spelling?

1. Drill method

2. Transcription method
3. Dictation method

4. Direct method

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496346473 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which is not a method of teaching spelling?

1. Drill method

2. Transcription method
3. Dictation method

4. Direct method

Options:
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496346474 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Morphaology deals with —

1. structure of words

2. formation of sentences

3. patterns of parts of speech

4. deducing meanings form words

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496346474 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Morphology deals with —

1. structure of words

2. formation of sentences

3. patterns of parts of speech

4. deducing meanings form words

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496346475 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is not true about the disadvantage of Direct Method of teaching?

1. It neglects reading and writing as it gives much emphasis on Speaking.

2. Grammar is taught inductively so it is quite difficult to put it into practice.

3. It requires ample use of audio-visual aids which are not available in every schoal.
4. Students do not acquire good pronunciation skills and knowledge of phonetics.



Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496346475 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is not true about the disadvantage of Direct Method of teaching?

1. It neglects reading and writing as it gives much emphasis on Speaking.

2. Grammar is taught inductively so it is quite difficult to put it into practice.

3. It requires ample use of audio-visual aids which are not available in every schoal.
4. Students do not acquire good pronunciation skills and knowledge of phonetics.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496346476 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is not true about West's New Method of Teaching English?

1. He laid more emphasis on reading skills particular for Indian children

2. Children can improve their language by reading printed English material

3. He was against teaching formal Grammar.

4. Alarge vocabulary and command on idioms and phrase is highly appreciated.

Options :
1.1
2.2
3.3



4.4

Question Number : 120 Question Id : 36496346476 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is not true about West's New Method of Teaching English?

1. He laid more emphasis on reading skills particular for Indian children

2. Children can improve their language by reading printed English material

3. He was against teaching formal Grammar.

4. Alarge vocabulary and command on idioms and phrase is highly appreciated.

Options :
1.1
2.2
3.3
4.4
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Question Id : 36496346477 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)
Question Label : Comprehension
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Question Number : 121 Question Id : 36496346478 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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3.3
4.4

Question Number : 122 Question Id : 36496346479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
WTOT & B T TE A
1. FHS 1 =
2. U EEY g9
3. WaeT T AT T
4. TRISTAT T SHHF ST

Options :

1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496346480 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 124 Question Id : 36496346481 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. =99
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4. ATgITT
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496346482 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496346483 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



HTST 3 I T 1T 97 YT ST6T 22
|. 9 AT E 94T 2
T H | 3 I
ferarerguT ot & e T &
=T % UTE SO HTST 7 ST BT 2

[-J

du

Options :
1.1
2.2
3.3
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Options :
1.1
2.2
3.3
4.4
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Question Number : 121 Question Id : 36496346478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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2.2
3.3
4.4
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Options :
1.1
2.2
3.3

4.4
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Options :
1.1
2.2
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Question Number : 124 Question Id : 36496346481 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
|. =g
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4. ATgITT
Options :
1.1
2.2
3.3
4.4
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Options :
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Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4
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Options :

1.1

2.2

3.3

4.4
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Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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Question Number : 129 Question Id : 36496346487 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496346489 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tﬁsim%‘ﬁagﬂm
4. UFAT AR ToRGAT UFF 1Y I FHAT =AM

Options :

[

1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 36496346490 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TATeIRaT = 18 U3 SEHIaSHaT i [&erear T8 2|
. € TR Wi ae Al & 21 3
. T T TEU W T SR IR T H HEE FAl ¢
3. T2 BN SE 1 S (2011 59 772 2
4. TS TR, T WINT S UK TEFI oh1 ST

I3

Eiz4d
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496346491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TITST &7 W97t h §e H
1. ST 3e9 AT 2|

0. HEE FAT 2|
3. To=ig YT T 2

4. TETF AE R
Options :

1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496346492 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496346493 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[ r =) s B
TEHTT ol GHTELTH] :elcswf.';lé %
7

-

=t
I
I

Options:

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649632712

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 36496346494 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST i e T A I A e Ao et o ST O e e -
) o7 % W8 9 % W9 S T Qe e
T ) e 08T 3 (oA .0 762 7 319 &7 =1t
) T4 3 o AU T W 9 T A =
T ) Fovees ot T =91 et o, 34 T e
| () m afr((a'm'sﬁ%l
2. % (3), () o (3) W 2
. ¥ (3) ﬁum‘ﬂﬁﬁl
s, A (7) o (3) T H

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 36496346494 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ST il FeT T A0 I o A el el e o ST e (e -
) 797 % WE 79 3 Y S O e
T ) e 0T 3 (oA .0 168 7 379 T e
) T 6 2 U1 9@ W T 9 A
7 ) Foegen 1 v 6t v o5 foe 4 7 e
L T () m aﬂt(a'm'sﬁ%
2. W( E]H'E?f%|
;. a9 (F) ﬁ(ﬁ)ﬂﬁ?l
s, %A (4) ¥R (3) W B

Options :
1.1
2.2
3.3
4.4



Question Number : 137 Question Id : 36496346495 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Py e o a fe oe Fer of —
FUT A FieaT (7:588 B9 & W WA F TS S0 T 2

T B:- T T 71 A1 SIS T [T 21T £ ST T 9797 7 ST 7 S 2 2
. AT (A) ¥ (B) T F

. %9 (A) §F9 & 47 (B) SR B

3. (A) T (B) ST & e B

4, Fa (B) eI T AR (A) A 2|

[am——

|

Options :
1.1
2.2
3.3

4.4

Question Number : 137 Question Id : 36496346495 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Py e o a fe oe Fer of —
T A~ FIaaT 17.568 BT 8 T WA 7 6E A0 v 2

FUT B:- FTe7 T 71 1 WIST-T17 37 (T 21T 2 77 T 9797 i SE=T 37 27T 2l 2
. TFT A (A) ¥ (B) ¥ 2

. AT (A) T £ R (B) 3 2|

3. (A) T (B) 3T E e B

4. I (B) FFA E &R (A) T 2|

[am—

[

Options :
1.1
2.2
3.3
4.4



Question Number : 138 Question Id : 36496346496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FrforftEs o & F19-97 13 1 SA999F 37999 781 27
|. =g WISt UE e
2. THETCHE {TE1 91 <
3. STSHFRT FH T

4. IO T d HIET =]
Options:
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496346496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FAfeTias O o F9-97 e F ATa99%F 37399 T8l 29
1. WI=T JIESoTET U Fed

2. ™ cHeh HIET 91 &4
3. TSN T UI

4. THTRLOT T HIET T=H1
Options:
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496346497 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
frfaftgs & & Fi9-91 FuF S@T 2
. et fare et s 3 emrfe wfee & weaifea 2
2. ¥YE T I WY T FeT ST 2
3. U = e ot et et 2
4. TS AT H U= A ST 2|
Options :

1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496346497 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frfaftgs o & F19-97 FU7 30T 2
. et T ot s = et i & weeite 2
; %ﬁﬁﬁﬁ@;ﬁwtﬁwm 2|

3. U W= 2 5 o I e 2|

4. TS 9T U= AE =
Options :

—

-3

1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496346498 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



SIS 9T e 36 SevE s e AT A AU T e © o e -
|. Tame, 4, =X ST §9IS 5 #10 faem st 3§ s

| ST T TR Y ST

3. R ST He a7 T fRTH oegt o7 9T o 91y W e § U 9 forE)

4. Tl o, faew, ?g%mu-l-ﬂﬂ:fﬁr TR B T ST S AT o O

-

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496346498 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST 7T TT0T 3 ST TR G 9T TSI S0 T e 8 1o e —
. faemer, e, = A o9 § o0 T st g =

2. TS T GO YA &)
3. UG ST HeF a1 Tt faRTH Toegl o710 a1 o H1y WY ST § s Wt o
4. Toreft ame, T, SRS 1 TR € H ST 6 T 9 6

Options :

1.1

2.2

3.3

4.4

Question Number : 141 Question Id : 36496346499 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR S T 1 TR T A T 5 3 TR e 1
| 71963 3 5 3 AT 3 AT S ST o AT e 1 S 3 T, 8 1 o
T (T T T e T
2. W 3 T R 3 S5 343 5 S 1 5T 1 ) 1 6191 3 0 4 I (o T 21
3, AT W 5 S T |5 98 o1 ST e AT o T o5 0 6 et e Terat T o o
et T

-

4, TIATST G ST 1967 ?w'eﬂw ST 1 T I 1 T S ST 1o |

Ll

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496346499 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
W T ST 2 Ty e e T T 5 o e 9
| 71063 % e o AT 3 ST S ST AT 7 6 ot o e, e ot AT o
T (2 TTHTT) TS e o
). T T AT WG 3 1% 343 T ST 1 S 3 TS o 7T 9 0 R ST (o T
g B B ! L [ by b el o
3, VT T 5 SIS T 15 T8 1 e 7 e, 1 9T % B 1 @ e A 3 fo
wefepfe o

4, TIRTST SR ST 1967 &'8133411: S 7 TR F WG 3 e Hgﬂe\qﬂl qreter T T

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496346500 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

HAfeEd 9 ufer —
F -~ ST AT T (9T B AU Fem A7 foraar dew
@ - 39 T 3 ST AT T8 afoe F5d WiHa w9 5 HgH?
=TT
T - 31899 T H1-USA FI9Te 31 [ T =rey]
T 1 FTE FAT AT AT FAT AIST-HIG F AT s 2|
1. ST, a2 & 7= fafar =
2. AT T SIS fare &
3. Temeh fafar =
4. g At ®
Options :

1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496346500 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TrAfeAfas = ufen —

F - ST FIST TS (99T 2| ST SemT AR foraar diee
= o7 Treray wiieh 2 ST ue|

@ - 39 (A o ST AT T (oo S5 d |Ia w9 5 S
=fem

T - 3199 T HI9-USH FI9Te T [T AT =1ren]

T ;- ATE FEAT SR STTE FAT HIH1-HE F ATewor B 2
1. S Hr = Fte
2. AT UE TS A |
3. Taurst fafarw
4. vegfata s

Options:

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496346501 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT TAHUE W forgdr / forgdt -
% T ol 2, 5% $eaTe Gerd ¢, T |1 @ 2
378 TS Fdl U4 5T o T4 3 ST U (57T oF 190 21 STedT T / e 2|
STEATI 3 ZTVT AT UG 3T TR TaTeT 3T ST 3R T 7R 27
. e far
2. T fafer
3. TR A
4, T &
Options:

1.1
2.2



3.3
4.4

Question Number : 143 Question Id : 36496346501 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SFATF TAHUE W forgdT / forgdt E -
% T e 2, 5§ Gerd ¢, T |1 @ 2
378 T FAl TS 51 o T4 % ST U (5T 3 (99 1 STedT T / e 2
ST o ZTTT TR UaH 301 (o (T 3T ST forarT ST 72 29
. e fat
2. T Tt

3. T fafy
4. HTEATTE 19T

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496346502 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TG e 1 W 7 03 e 1 T -
R () o T 3 T e 1 AT 1, 3705
T T T 7 fem S R
o () o e e o v 2, 32 g o s e e, s e e v
T
3 fom FRaTom oA Tieetes foven s e

) T R () T

e b |

0
(#@)FNE ww%m‘gg(a, (%) Fr T e
() T (3 A (3, (o) e e e
4, (A TET TR @ w?’l

Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 36496346502 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR e 1 7 0 e 1 T -
70R () Fo Farei s e e ot eeeee o, 3706
F4 T TS £ fean S e
0 () o T & e ot T 2, 37 e T o T e T s a7 S 0
T
% o Fefor it TeenTe fo e e
() 7 2 (7) A T
()7 (@ ww%wa (%) e T 2
3, ()7 mm?w (A F T T
4(3:;@?%?%%% m?’|

Options :

L.
2.
3.

1.1
2.2



3.3
4.4

Question Number : 145 Question Id : 36496346503 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T TR1- 32T 3 [T T AW R 7| Teh-5eh 38T AN 5 9Ed HeaR |
S U & TR o & T 30T A 27

|. TERTII S7eaTae i T
n

Tad

ERa AR IGIEL
4, T % A IR
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496346503 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TRT-FETHI % o1 U AW T 8| TR-5F ST LA 5 954 HEaR &
ST e TR 5§ T $T a2

|. TEFTSITST ST S faTyar
!

L

ERIEAREIGIELU
4, T FEIE F IR
Options :
1.1
2.2
3.3



4.4

Question Number : 146 Question Id : 36496346504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Torenr o Rwedt T & o fFtoias o & 991 92 T 22
| ¥ Towe 7 sEe 99 5 9E 8
2. I T=ANY UF FAAT HrE J 9EE T
3. I AT AU AT @t § y=ie 2

4. T UST-FIST AT T 5 To90 SATeH 1S4 U7 AT 2

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496346504 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Torar F w=rwe fafyr & A fsteafas 3 & w1 92 78 22
| ¥ T i J5e 99 § 989 o
2. I =IO U AT e J HEF 2
3. I AT AU AT @t § y=ie 2

4. T UST-FIST AT T 5 To90 SATeH 1S4 U7 AT 2

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 36496346505 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T AR U T 1 =T 9 T e 2 GAT ] T T § T3 0 T 018 W AT
T2 AT 1 TS T 72 o7 T o ST e el 27

| TR Tt ()

). WU Tty (3T

3. Fram oty (§9Te o)

4, HROTTATEReS T see T

Options :

1.1
2.2
3.3

4.4

Question Number : 147 Question Id : 36496346505 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T ST ST 4T 31 T 3 R ¥ TS 30| 2 T 3 U39 Tes © 0 0 U0 0138 T 37t
5 5 a3 r\t\ .:\\ 1
ﬂimmﬁd[qwﬂmw A1 2 T T T 1 T ST AT 2

. o T (ATee)

). HHI Ty (327e29)

3. T Mt (702 )

4, VPOTSTeeR e e Tiatat

Options :

1.1
2.2
3.3

4.4

Question Number : 148 Question Id : 36496346506 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

HATeEd =T 5 & -9 9c7 981 & —
1. ST THT 3T GERT WTST TI@ 0% FehIeash W 2T 2
2. T TST GERT WINT F SRE F ST e 7
3. TS HIIE U WIS T GO WIS F TN 160 ST Fh 2
4. HHT AR ATH T T W == T+ W GG T 2|

Options :

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 36496346506 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frafeiEs o=t 3 o -9 I T T8 2 —
1. ST WTHT 3T SERT WTST TI@ 0T FehIeash TWIE 2T 2
2. T HTST GERT HTST % SRE F ST et 2
3. TS FAIE U WIST H GELT WIST H I b, ST 9ot 2
4. 9T ¥R 7T 57 9 W T o W §1E 99 2

Options:
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496346507 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT ST SEAaa et e
I n‘mmﬂ'ran’gmq{-nuw st =t @
2, ﬁ'r?mﬁalﬁﬂmmmHalﬁmmm?waﬁ?ﬁwlﬁ'@ﬁﬁﬁl
3, %Wmmwwmmﬁagaﬁww%
4. Toesit 9T & AT | 9T e

Options :

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496346507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT ST SEAaa et e
. TITTST 3 R TEIH (9T ot |
2. ﬁ'r?mﬁalﬁﬂmmm q JEATT Fd © I T2 9 F2 190 GG = 2
3, farsmeff mmwwaﬁmﬁa@ﬁ WSO g 2|
4. Taesft 97T o gTegg § 7T SRE

Options :

1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496346508 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR TATEeT FTq2” S TS foreqor 3t Rfeer erarwe 3 e foha S 2

[ T

ATToRd 5 © 94T 21 |IEATeTd LT’
. UIGAYEH {_ut@qﬁuﬁmﬁ%hﬁﬂrﬁ?gﬁﬁ}

i )

. T ATRR I gmm{%mmﬁ,ﬁﬁai, EIEIRIG)

R

k.

]

3. FATAHAT (TF /FIHF)
4. HiTEaT-TEEF AT (I, U, STt °1.E)
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496346508 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR $7q2 S WTaT foreqor 1 TR svawe 5 T R S 2
faeifera & & 77 T2 Afeters Fam

! q[gng${_uL§qﬁuﬁmﬁ%%@ﬁﬁ%W}

. TS AT AT T (e, e, ey i)

. - (T /1)

3
4. HiTEaT-HeTEeE ST (IEET, U, AT 6E)

Options :

k.

-2

1.1
2.2
3.3
4.4



